
1) 7.6 + 8.8

Answer: ____________

2) 11/6 x 12/5

Answer: ____________

3) (-50) ÷ (-5)

Answer: ____________

4) 7/6 - 4/4

Answer: ____________

5)
Find the next three numbers in 
the sequence
1,0,0,-1,-1,-2,-2__,__,__

Answer: ____________

6) (614)6

Answer: ____________

7) Find area of square 
having each side (s)
equals 4 cm

Answer: ____________

8) 1 + 6

Answer: ____________

9) Increase 153 by 1/51

Answer: ____________

10) Solve by factorising 
d2 + 13d + 12 = 0

Answer: ____________

11) 1/117 of 234

Answer: ____________

12) Solve 9f2 + 4f - 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

13) 22/3 ÷ 14/5

Answer: ____________

14) Convert the following mixed number 
510/8 into an improper fraction.

Answer: ____________

15) Convert the following improper 
fraction 25/6 + 41/2 into a mixed 
number

Answer: ____________
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16)
25

4 /8

Answer: ____________

17) Find perimeter of 
square having each 
side (s) equals 4 in

Answer: ____________

18) 1 + 1

Answer: ____________

19) A number was shared in the ratio 
10:1. The smaller share was 8. What 
was the total amount shared?

Answer: ____________

20) 4.7 + 2.8

Answer: ____________

Total: ___ / 20
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Answers:

1) 16.4 2) 119/30 3) 10 4) 1/6 5) -3,-3,-4, 6) 684 7) 16cm

8) 7 9) 156 10) d = -1 or -12 11) 2 12) f = 0.9 or -1.3 13) 113/27 14) 25/4

15) 71/3 16) 5 17) 16in 18) 2 19) 88 20) 7.5
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